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(1)
#include <stdio.h>
int main () {
int x=1, y=1, t;
printf ("$3d%3d", x, V)
t=x+vy;
while (t<100) {
printf ("$3d", t);
X=Yy;
y=t;
t=x+vy;
}
return 0;
}
)

#include <stdio.h>
#define N 9

int main () {

int i=1, j=N-1, k, t,

while (a[i]l<al[0])
i++;

while (a[j]l>al0])
J—=;

t=alil;

alil=aljl;

aljl=t;

for (k=0; k<N; k++)

printf ("$3d4d",

return 0;

alkl);

a[N

1={5,1,8,2,9,7,3,4,6};




R 450 e 4 F1078 & R AL STE 2 4 R

AR B AGEY ) PR _TRBHE
A RS H(E Y )
FoldF & B § Sk %47 F2F
©)

#include <stdio.h>
#define N 5
int ex (int*);
int main () {
int i,a[N]={1,2,3,4,5};
for (i=0; 1i<N; i++)
printf ("%3d", ex(&ali])):
return 0;
}
int ex(int *p) {
if (*p%2==0)
*p=(*p) * (*pP) ;
@lse
t+(*p);

return *p;

(4)

#include <stdio.h>
#define N 4
int main () {
int 1, j, a[N][N]={{1,0,0,1},{2,1,0,1},{0,21,1,1},{1,0,1,0}};
for (i=0; i<N; i++)
for (j=0; Jj<N; Jj++)
if (ali1]l[J]1==1)
aljlli]*=-1;
for (i=0; i<N; i++) {
for (3=0; Jj<N; j++)
printf ("$3d", alill3jl);
printf ("\n") ;
}

return 0;
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#include <stdio.h>
#fdefine N1 5
#fdefine N2 3
int main () {
int i=0, 3=0, a[Nl]= {1,3,5,7,9}, bIN2]= {2,4,6};
do {
if (ali]<bl3]){
printf ("%$3d", alil):;
i++;
} else {
printf ("%$3d", bljl);
J++;
}
} while ((i<N1l) && (3<N2));
while (i<N1)
printf ("%3d", ali++]);
while (3<N2)
printf ("%3d", b[j++]);

return 0;

= ~ Please briefly explain

(1) What is a binary search tree ? (5%)
(2) What is a max heap tree ? (5%)

ANS :

= ~ Given the following graph, please write its

\

(1) adjacency matrix ;  (5%)
(2) adjacency multilists. (5%)

ANS :
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2z ~ Find the minimum-cost spanning tree of the following graph by using Kruskal’s algorithm.
(10%) (Note: You have to draw the immediate steps or briefly explain your reason. Answers

without explanation get only 4 points).

ANS :

7 ~ Assume that we start the traversal from Vertex A and the graph is stored by adjacency list as
shown in the follows. What is the traversal result (the order of the visited vertex) of depth-first
search. (10%)

A B[ +——{C]| 4—[ET0]
ANS : @ B [A] J——[D[+——{F[0]
C [A] J——{G[0]
() (©) (®) [H——m
@ | E F[0]
@ @ F ——{B] +——IEJ0]
G ——[cJo]

= ~ Please complete the following table which is used to find the shortest paths from vertex a to all

other vertices of the following graph by Dijkastra’s algorithm. (10%)

ANS : s

. \Vertex
Iteration a b C d e i g
selected

Initial 32 00 00 00 3
1 f
2
3
4
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